
www.world.corally.com www.support.corally.com www.dealers.corally.com

FH M4x12 FH M4x12 
C-3002-40-12C-3002-40-12

BH M4x25BH M4x25
C-3003-40-25C-3003-40-25

FH M4x10 FH M4x10 
C-3002-40-10C-3002-40-10

(1)(1)

(2)(2)

(2)(2)
(2)(2)

(2)(2)

(1)(1)
(1)(1)

(1)(1)

(1)(1)

STEP 2 STEP 3

STEP 1

- Rear Skid Plate

- 2.5 Hex Driver

- Thread-locker

Don’t forget to re-install the driveshafts and rubber 
bushings in the outdrives.

Required Tools:

REAR SUSPENSION ASSEMBLY

Finish Before:


